MAT 1375, Classwork®6, Fall2024
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1. Let f and g be the functions defined by the table below. Complete the table by performing
the indicated operations.

X 1 2 3 4 5 6 7
f(x) 4 5 7 0 -2 6 4
gx) 6 -8 5 2 9 11 2

sw+3 | @ | =6 | & | 5 |l |4 |5
fO-29 | =@ | 2| | =3 | =4 |-50 | =6 | O
glx +3) > g || 2. | undetind|undddied |undedined
(f e 9)(x) || unddied | =2 5 |unddied |undeind | —Q
(g° ) 2. q 2 | undofded |undefined | | | =
@90 | || lnddiwd| 9| ~8 luboe] e —£

2. Complete the definition of the one-to-one function (or injective):

Given a function f(x). If any two different inputs X ﬂ'(XP— always have different

outputs‘?()(\\e%m then we call this function f a one-to-one function.

3. Horizontal Line test:

A function is one-to-one when every horizontal line intersects the graph of the function

gkt one.

4. Complete the definition of the Inverse of a Function:

Let f be a function with domain D and the range Ry, and assume that f is one-to-one. The

inverse of f is the function f 1, determined by:

f(x) = y means precisely that —P 6{ =




Therefore, we have Df—1 = £F ,and Rf—1 = IZF .

. How to check if two given functions are inverse with each other:

Let f and g be two functions such that

'\PC )=X for every x in the domain of g and
q ["‘H'X\\ % for every x in the domain of f.

A By I
The function g is the inverse of the function f and is denoted by ? -F

. How to find the inverse function for a given invertible function f(x):

Stepl FFO(\ wrthg/
Step3: V‘q/ (|5 ‘Cd-Q. XIQJ\\Z\B
Step4: ‘F (X) —F()Qr\ \ Z\ L—m

. Given a function f(x) = x? 4+ 1,x = 0. a) Find the inverse function of f(x). b) Graph f
and f 1 in the same coordinate system.
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